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1. feu e fréwr 3 srgem frefofaa et w1 safem Fifve : (@ @)
Q) e faoe o eehiE Jmmed & ued A I
C,H,NH,, (C,H,), NH, (C,H,); N
() SaHAfEM S TEdFAH
(C,H,), NH, C,H.NH,, C,;H.NH,
(i) pKb M S ESIhA T :

C,H,NH,, C,H,NH,, NH,
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General Instructions :

Read the following instructions very carefully and strictly follow them.

(1)

(i1)
(iii)

(iv)

(v)
(vi)

This question paper contains 12 questions. All questions are

compulsory.
This question paper is divided into three Sections — Section A, B and C.

Section - A Q. Nos. 1 to 3 are very short answer type questions

carrying 2 marks each.

Section - B Q. Nos. 4 to 11 are short answer type questions carrying

3 marks each.
Section - C Q. No. 12 is case based question carrying 5§ marks.

Use of log tables and calculators is NOT allowed.

SECTION - A

1. Arrange the following compounds as directed : (any Two)

@
(i)

(iii)

In decreasing order of basic strength in aqueous solution :
C,H,NH,, (C,H;), NH, (C,H;); N

In increasing order of solubility in water :
(C,Hy), NH, C,H.NH,, C.H,NH,

In decreasing order of their pKb values :

C4H,NH,, C,H,NH,, NH, 1x2=2

3 e P.T.O
-E: 1.,
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frefafaa % s s -
() Terega-3Taeeai X 3R Y i wehfa oY ymfer Hifsre |
(i) forga-aToereal X 3R Y sl S5 S 3 sl 3R uge ol 2, a1 A o Sfgasd

AT B g ? 1x2=2

Sifeet AN & 379 Fa1 GHEd & 7 91 Th Sl JIHAT o foT 89 il T
STIIUSeRdT qaT L Hehd & ?

wues-"

(%) wiifceh- TR STR TERIfR-STferey & 9 15 i 7 fofaw | 1x3=3

teran
(@) e o foTq Iuer Serewu <ot fferfad ugi =1 aftnfya $if -
() g |

(i) RIS HIATsS

(iii) hed 1x3=3

() ek o % foTQ Ueh IUeRt 3TETUT S B¢ P rfirfsranadt 1 wefifa shifva -
() Ao Aferargs Heerw

(i) hriseraH srfrfspan
(iii) B suTss fietr stfirfran 1x3=3
Freran
(@) T srfufsrenatia A, B @en C & &= i -
LiA/H HNO
@) CH,CH,cI—BCN, 4 S B— C
NH, (a) LiAIH,  CgH,S0,CI
.. N \ N 1 -
(i) CH;COOH A > A &) H,0 >C 1% x2=3
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2. In the plot of molar conductivity (A ) Vs. square root of concentration (\/6),

following curves are obtained for two electrolytes X and Y :

X

Y\

JC —
Answer the following :
(1) Predict the nature of electrolyte X and Y.
(ii) What happens on extrapolation of A to concentration approaching

zero for electrolytes X and Y ? 1x2=2

3.  What do you mean by complex reactions ? Can we determine order and

molecularity of a complex reaction ? 2
SECTION - B
4. (a) Write any three differences between physisorption and
chemisorption. 1x3=3
OR

(b) Define the following terms with a suitable example in each :
(1) Lyophilic sol
(i1) Macromolecular colloid
(1) Coagulation 1x3=3

5. (a) Illustrate the following reactions giving suitable example in each
case :
(1) Gabriel phthalimide synthesis.
(i1) Carbylamine reaction.

(ii1) Hoffmann bromamide degradation reaction. 1x3=3
OR
(b) Write the structures of A, B and C in the following reactions :
LiA/H HNO
() CH,CH,Cl—BCN, o S B—— C
NH, (a) LiATH CxH;S0,ClI

.. N \ N 1 -
(i) CH,;COOH A > A ®) 5,0 B >C 1% x2=3

5 E -;E' P.T.O.
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T HEte Afe X e g CH, 0 # 2,4-DNP == &1aT @, 2feH

tfirerries 1 3T 8 et @ AT NaOH 1 sufeufa & 1, & ary ™ &0 ®

FHETSHT TR0 & & | AT X Teret ST ehiul Ot UHigeh a1 TS 3T el § |

fafau

(G) s X |

(i) 2, 4-DNP 31firrses & @1 i X ) Aifsran g 8 9T 3cd1e ol §3=HT |

(iii) AR X’ I NaOH i ufeufa o 1, o a1 T8 T | T Icaral ohl S |
1x3=3

(%) () Foreea fiee faga & R W afg A, < P & dr d* 3eF & foe seegite
Torrma forfew |
(i) HASTERA STy fHGTa 1 3T Hd T [Ni(CN) ]2~ 3 Hohtll T8 Graeh i
0T <Y ITfeR I | (o] SRk Ni = 28)
(iii) TUPAC Frmi s smur W FHfeRad s 1 g fafa -
SRFAMNEIE (TH-1,2-SEUHM) Siamee (111) 1x3=3
YA
(@) 59 T IuEgEanth A NiCl, - 6H,0 %I AgNO, % a1 faetrn S @
ifireh % Teh el o T AgCl % < Al Jraeifud g 8 | ferflg -
()  Hpel T ETEAT & |
(i) FHa H Ni’ 1 feeires deisrehar |
(iii) ¥pet b1 IUPAC M | 1x3=3

(%) frafefed < foe swor dif -
(i) Zr 3R Hf S g8 w7 Hrees 9 § |
(i) EshEuT e e STTeEfeRT sreTd guitdl 2 |
(iii) TSieh 1 U T} 1 0H TeH HH AT R | 1x3=3
YA

(@) FshUUT LTqE qT §9eh 37k ik 30 IBHH 1 1 FAT Hid & 7 FshUUT LTq3T]
Sl SATeefToRuT STeatl § TiEd-efierdT STEshuvl eTqaii o STiaeiehor sTawernst d
gftardsficrar & fora yebr =1 3 7 IgTator ot TaE shif | 3

6 e
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6. An organic compound X with the molecular formula C,H;,0 forms

2,4-DNP derivative, does not reduce Tollens’ reagent but gives positive
iodoform test on heating with I, in the presence of NaOH. Compound X’ gives

ethanoic acid and propanoic acid on vigorous oxidation. Write the
(1) Structure of the compound X.

(i1) Structure of the product obtained when compound ‘X’ reacts with
2,4-DNP reagent.

(i11) Structures of the products obtained when compound X' is heated
with I, in the presence of NaOH. 1x3=3

7. (a) () On the basis of crystal field theory, write the electronic
configuration for d* ion if Aj <P.

(11) Using valence bond theory, predict the hybridization and
magnetic character of [Ni(CN) 4]2‘.
(Atomic number of Ni = 28)

(111) Write the formula of the following complex using [IUPAC norms :
Dichloridobis (ethane-1,2-diamine) cobalt (III) 1x3=3

OR
(b) When a co-ordination compound NiCl,-6H,0 mixed with AgNO,, 2

moles of AgCl are precipitated per mole of the compound. Write

(1) Structural formula of the complex.

(1) Secondary valency of ‘N1’ in the complex.

(ii1)) TUPAC name of the complex. 1x3=3

8. (a) Account for the following :
(1) Zr and Hf have almost similar atomic radii.
(i1) Transition metals show variable oxidation states.
(ii1) Zinc has lowest enthalpy of atomisation. 1x3=3
OR

(b) Why transition metals and their compounds act as good catalyst ?
How 1is the wvariability in oxidation states of transition metals
different from that of the non-transition metals ? Illustrate with
examples. 3

7 E -;E' P.T.O.
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() Fmfafaa oo sifafran % foe 7 fires 9t —300 kJ mol ' 2 -
Zn(s) + 2Ag™(aq) — Zn?*(aq) + 2Ag(s)
rfifsha o few EO | o1 aReherd <hifor |
(@2 : 1 F = 96500 mol™)
(b) MgCl, o fetu 1.0 =1 uftsher i Afq Mg?* 3R T8 Cl~ 3R o ferg 40
A A 106 S cm?mol~! & 76.3 S emZmol 1 § | 2+1=3

3d wshT 2vft % frferRaa 3mem feu e €
Ti2*, Fe2t, Cu2*, Zn2*
(T shHTeh : Ti = 22, Fe =26, Cu=29, Zn = 30)
0 O 3 3T ! Ug=TT ST
O EEENIPACNPER RC R E iR CIRE
(i) AU +1 TR RToT STaEAT W Afereh TIRft 8
(iii) Sefl faeea 3 TEH 2 |
T o foTT Iuert hre ST | 1x3=3

TS WU hife ht AR % 50% IO 81 § 40 e & a € | fopaw Tw o srfufsean
90% gt gt ?
[fean : log 2 = 0.3010, log 10 = 1] 3

Qo - T

=t feu T sg=es i afeu 3R i feu Tu el & ST G -

UfcerTse, SIdH Td hisifraicrh 370, i AMfiehi & Ho qawyqul @ &
HTaliel FE IUTEAA & | hreiiiel T § hra ohl ULl Jtleefior 1 forgd—sRurerenal
I B % BRI FAMH YAT A B & | Uosgrsel Hl Wt Veehlgtedl o
Toreggiora = frafa sttt 3t e gomsel & fafa staemm grr fonfaa feman
ST 8 | BT 1 Tt Ueehiaicll & Sffeeientr 3R VeshrsAl & ooy § ferfra
fepe ST 2 |

s %
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(a) The standard Gibbs energy (ArG®) for the following cell reaction is
—300 kJ mol!:
Zn(s) + 2Ag*(aq) — Zn?* (aq) + 2Ag(s)

Calculate Egell for the reaction. (Given: 1F = 96500 mol™1)

(b) Calculate A° for MgCl, if A° values for Mg2" ion and Cl~ ion are

106 S cm2mol~! and 76.3 S cm2mol! respectively. 2+1=3

Following ions of 3d transition series are given :
Ti2*, Fe2t, Cu?*, Zn2*

(Atomic number : Ti = 22, Fe = 26, Cu = 29, Zn = 30)

Identify the ion, which is

(1) a strong reducing agent in aqueous solution.

(11) more stable than its +1 oxidation state.

(111) colourless in aqueous solution.

Give a suitable reason in each. 1x3=3

A first order reaction is 50% complete in 40 minutes. Calculate the time

required for the completion of 90% of reaction.

[Given : log 2 = 0.3010, log 10 = 1]

SECTION - C

Read the passage given below and answer the questions that follow :

Aldehydes, ketones and carboxylic acids are some of the important
classes of organic compounds containing carbonyl group. These are highly
polar molecules due to higher electro-negativity of oxygen relative to
carbon in the carbonyl group. Aldehydes are prepared by dehydrogenation
or controlled oxidation of primary alcohols and controlled reduction of acyl
halides. Ketones are prepared by oxidation of secondary alcohols and

hydration of alkynes.

9 E -;E' P.T.O.
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Ufceass Ud HIeH HEINT wHg W AR s sRifEmd 39 8§ st
Hraifeaterh 3T ATl AnTet srffsrand 98 oo & | Ufeesmse wa feH 1 ufed
0.-BTSEISH AT BId © | 3Tq: S ¥ A Th o-B3gNH I Ufcease Td hieH Ueeid
T GA 2 |
e arfirentien e i foreram 3 wwH gg stiain rfiehdss UfegaTesi 1 3 &
FTdishd T S & | HEifeatcerh 3Tl w1 foaq werfis Uehigiel, Ufeggisst %
FATHATHLT, TEETSAT o TA—-3ITTESH o I FehaT 1T B | VWHTCH hraiifaicteh 3TrAl ohi
R @ aTet Ufeshel S o TefiRtor ¥ faufea ke St wehar € | shraifafeTe
3T Ueeh g Toll Ud 3ATerehal STfaetet WHTel § hTeh! 3Afreh 3refia 8id 2 |
(a) T =1 Tiftreraeft anrer srfufsrn & wfa bt srfufsramsiierar & sgd gu shw |

W’@]ﬁaﬁﬁﬁ: 1
CH,COCH,, CH,CHO, HCHO, C,;H,COCH,
(b) T T T o sl forde s o foTq Ueh wet Temfees qieqo € | 1
(c) UfceaTssl Ud HIgHI hl a8 Heiadicteh 30T AR TR STTshaTd Iy &)
W 1
@ () Ufeearsei Td HieH & UTH (o) BEGISH ohi 3TeAta ehid i il 2 7
(i) fr=afafed o sarel =1 fafaw 1+1=2
2@_CH01T|'S{N30H
s
frfaRaa stvfsransti o g 3ee fofign -
| CHy-CH3  (a) KMnO,, KOH
@) O/ O > 1
i
C-Cl -
- @/ H,, Pd-BasSO, )
1+1+1+2=5

10 e
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Aldehydes and ketones undergo nucleophilic addition reactions onto
the carbonyl group but carboxylic acid does not undergo nucleophilic
addition reaction. The alpha (o) — hydrogens of aldehydes and ketones are
acidic. Therefore aldehydes and ketones having at least one a-hydrogen
undergo Aldol condensation.

Aldehydes are easily oxidised by mild oxidising agents such as
Tollens’ reagent and Fehling’s reagent. Carboxylic acids are prepared by
the oxidation of primary alcohols, aldehydes and by hydrolysis of nitriles.
Aromatic carboxylic acids are prepared by side-chain oxidation of alkyl
benzenes. Carboxylic acids are considerably more acidic than alcohols and
most of simple phenols.

(a) Arrange the following in the increasing order of their reactivity
towards nucleophilic addition reaction. :

CH,COCH,, CH;CHO, HCHO, C;H,COCH,
(b) Give a simple chemical test to distinguish between Ethanal and
Propanone.

(¢) Why carboxylic acid does not give nucleophilic addition reactions like
aldehydes and ketones ?

(d) (1) Why a-hydrogen of aldehydes and ketones are acidic in nature ?

(11) Write the products in the following : 1+1=2

9 @-CHO Conc - NaOH S

OR

Write the major products of the following reactions :

) CHZ - CHS (a) KMHO4, KOH
@ O >

0]
I

C_cl _
i) @/ Hy Pd-BaSO,

1+1+1+2=5

11 e
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